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2AMd: 2322
M 20z ds 2435
el 2aER I8 =i (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
09 HALAHIEA S 10,000 10,000 0
OsdI 243 400,000& *253] 10,000
Z0=HA XA 87,620 132,600 A 44980
201 LBt 8,560 8,240 320
01 At 22l 8,560 8,240 320
OZso=&A ZH(EEE HE S)
1,000& x6,000% 6,000
O2UE 2= A SRFX E2X = EHI
8,000& »4H x802] 2,560
202 oddl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
O2st0l==20F 22 =& 60,0003 +4H «1038] 2,400
203 YR =&t 3,000 3,500 A 500
03 AIEZ=XH I =AH| 3,000 3,500 A 500
OZstol =&AL Al =2 3,000,000& 3,000
307 glz2tol & 73,660 108,460 A 34,800
02 IZtE M AHEE 8,660 8,660 0
OXlelsrZ st Rl &2t 3,000,000& 3,000
oozd dsSihl=nad 29 5,660,000 5,660
04 DIZHHALALSE E X 65,000 99,800 A 34,800
OAMiol oH S0l &AL 4,000,000& *13] 4,000
OXMOoE Sl A 4,000,000& =13 4,000
OHMEHALE S HI13AH 3,000,000 *13] 3,000
O=dlgdot=s &2 & A=l 5,000,000& 12l 5,000
OgAA2Eal SL-M=2 A2t nJEAS
7,000,000& =13l 7,000
O=2 3Asl 10,000, 000& 13| 10,000
OOIEHAEIE JHA 32,000,000& =12l 32,000
gxEsH XA 335,000 170,000 165,000
307 21201 A 185,000 170,000 15,000
02 QB AAHEX 75,000 65,000 10,000
O=ststn 29 40,000,000& 40,000
OogtdZ s &2t 15,000, 000& * 13| 15,000
Ogterstd I &2t 20,000,000& 20,000
03 BIAHMNHE2IHIEL 100,000 95,000 5,000
OXgEZsta At &3H 2 |XHl
100,000, 000& 100,000
04 DIZHHALAISE E X 10,000 10,000 0
OZAE Hd8 st=dZXY 10,000,000 *13] 10,000
405 TtabH S| 150,000 0 150,000
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EX: S22
HH: S0z Mg 243
@2 23S Iz =20 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Okcefna ZAUI (2L, &=2)
15,000,000& 15,000
NEZ2S HES €A 68,000 52,000 16,000
307 2Iz2t0| A 68,000 52,000 16,000
02 QI AAIRE E X 43,000 38,000 5,000
Os9 st X 33,000
— 2AAISE 50,000& x40A| 2FH*110H S S 22,000
—JIXM 2 S 1,000,000 110 SH 11,000
Oblx=0ls 223 &85 S 10,000, 000& 10,000
04 SIZ2HSHAAISHE E X 25,000 14,000 11,000
OZJEUWEE HAHEELS) 4,000,000& *13] 4,000
OZEUYEBE AR H) 3,000,000& *13] 3,000
OFSMUHBE S#MAHIIEH)
2,000,000 9 H x138] 18,000
ZOHE XY L AIE2 22 70,848 39,127 31,721
101 21 214| 7,348 6,627 721
04 JIZtHIZ22XNSE S 7,348 6,627 721
OQOE2AF 2t2] 66,8002 1 x110L 7,348
307 212t0| & 23,500 22,500 1,000
04 SIZ2HSHAAISH E & 23,500 22,500 1,000
OH4=ZHdX MEk 4.,000,000& *x13] 4,000
O dF==04 H &k 2,500,000 *13] 2,500
OEMEMY ==2Z F2H 7,000,000& *13] 7,000
OAIZAY =282 F2A 5,000,000 13| 5,000
Os=9Y &s=2H 3,000,000 *13] 3,000
OXA HE 1,000,000 23| 2,000
401 AlEHIZ 2 0HY| 40,000 10,000 30,000
01 Al& B 40,000 10,000 30,000
OHUAAL ST B2 (MY, ®I| S)
10,000,000 10,000
OEAAN E&E A 30,000,000 30,000
A& HIEF 24,000 20,500 3,500
307 212t0| & 24,000 20,500 3,500
04 CIZ2tSHALALS B X 24,000 20,500 3,500
OYANA 5,000,000& x23| 10,000
OJIEtA & 2,000,000 *70H & 14,000
sk ¥ |53 X 46,500 47,500 A 1,000
307 QI2t0| ™ 42,500 42,500 0
04 CIZ2tSHALALS B X 42,500 42,500 0
O[RUNESRIAHE (S JI2H) 7,500




fAH: S2st22 1
M 20z ds 2435
el 2aER I8 =i (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— g 4,000,000& 13 4,000
— otolar 3,500,000& =13l 3,500
Ogn EF&AM 2,000,000& »20H 2 %23 8,000
Oda2sE3 TEH3I=2US 27,000
—S2LRTE 18,000,000& *13l 18,000
— Ao RE3E 9,000,000& =13l 9,000
402 RI2HXt20l ™ 4,000 5,000 A 1,000
01 212t 2 AL E = (REM ) 4,000 5,000 A 1,000
OGS SRATUH 2" 2
500,000& 8 4,000
ZE0E 0l AIHAEE 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OZ3gelol A=3HAEEYE 15,000,000 13l 15,000
Aelat 2sHH 30,000 25,000 5,000
307 21201 A 30,000 25,000 5,000
04 DIZHHALALSE E X 30,000 25,000 5,000
OXlels 2stH 30,000,000& x13l 30,000
CERARAELAAER X 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
04 DI2HHALALSE E X 25,000 25,000 0
OFJIsH & SE€3H 25,000,000& 25,000
AHF L DI AL X & 11,571 12,000 A 429
= 8,100
i 3,471
307 21201 A 11,571 12,000 AN 429
= 8,100
s 3,471
04 QIZFHALAIH B = 11,571 12,000 A 429
O=HIEXZ ALY 11,571
—stA A= DA 2,000,000& 13 2,000
= 1,400
e 600
—SIAIE SEIUR Z4tEH 3,857,000 *12 3,857
= 2,700
[ia 1,157
— 23 2= AN 2,857,000& =13 2,857
= 2,000
e 857
—HEE 23 SLH 2,857,000& x13] 2,857
= ,000
[ia 857
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CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

MESTH AL

HH A

92,500
37,000

16,650
38,850

90,000

307 21201 &

HH A

92,500
37,000

16,650
38,850

90,000

2,500

FA

2 H
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92,500,000&

Mo H

92,500
92,500
92,500

37,000
16,650
38,850

90,000

2,500

A

2.

!
EJ
ol
0
>
11

M A

42,000
21,000

6,300
14,700

36,000

6,000

307 21201 &

Mo

42,000
21,000

6,300
14,700

36,000

6,000
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42,000,000&

MW

42,000
42,000
42,000

21,000
6,300
14,700

36,000

6,000

Bl

Mo

15,500

7,750
7,750

12,500

3,000

307 glztol &

EUNY

15,500

7,750
7,750

12,500

3,000

5,500,000

EUNE

10,000, 000&

UL

156,500
15,500
5,500
2,750
2,750
10,000
5,000
5,000

12,500

3,000

URE

2,000

1,000
1,000

2,000

308 XM S0IH

2,000

2,000
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AN 23220
M 230l s 248
o 2aER Il =0 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AS A 30,000 30,000 0
307 @lz2tol & 30,000 30,000 0
04 QIZHHALALH 2 £ 30,000 30,000 0
ORXE 24d HSA 30,000,000& *12 30,000
SEE A 30,000 30,000 0
307 glztol & 30,000 30,000 0
04 QIZtHAALH 2 & 30,000 30,000 0
OdEZE &AM 30,000,000& *12 30,000
Hd=AZE Z2EUE 20,000 15,000 5,000
307 212t0l & 20,000 15,000 5,000
04 QIEHAALE 2 = 20,000 15,000 5,000
Od=AZx U3 20,000,000& *12 20,000
gesa 29 259,531 197,753 61,778
101 1244l 55,909 52,121 3,788
04 D12 R22 RS2+ 55,909 52,121 3,788
O et ¥ FAr2tel 55,909
—JlzEa 66,8003 x2H 249 33,267
- 5= 66,8003 x2H x52& 6,948
— g Xt==g 66,8003 x2F x122 1,604
—522f=+E 66,8003 «2&H 152 «150% 3,006
—4UHEE 44,825,000 *14% 6,276
—&&3 66,8003 x2H x302 4,008
— Il =l 200,000& »2& »23] 800
201 fEt2E | 124,122 107,732 16,390
01 At 2t 2l bl 48,882 39,432 9,450
OLOES A X 286,000& »1CH« 12 3,432
O&==J| Xt 50,0008 *2CH x 12 1,200
O3J1EEJl it 55,0003 »4CH 128 2,640
Or=zac 3 72¢ 30,000 *200H 6,000
OO0lglol MEAE 28 223 2
400,000& x103! 4,000
OELAANEAS 2 20,000& 1002 2,000
ORsSZdEIAZs F4&+d & 04l
150,000& »3& »23] 900
Oz 28 A3 d4d+¢
70,0002 x15& *13] 1,050
OR=E 285X 8= 2,000, 000& *23] 4,000
OSAEI & 4425 7
200,000 =12& 2,400
O &=9%s HNH 60,0003 *60H x62] 2,160
Ocl2x M 300&*10,000% 3,000

_8_
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fAH: S2st22 1
M 20z ds 2435
el 2aER I8 =i (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odgolet=2stn AMSTEY 224 2,500
— 2t ¥ 22 RAX A FOHA AHEY
25,0003 x50 *23| 2,500
12IJIEE243 2,000 2,000 0
OXNASAX(HE R0+
,000& +2H «100 2,000
401 AIEHI L 2 CHYI 55,000 20,000 35,000
01 A& HI 55,000 20,000 35,000
O2¥TRE BEEXM 20,000,000& =14 20,000
oYt 22 E2E At
35,000,000& =14 35,000
405 XHoHF S HI 9,600 3,000 6,600
01 AR ESFH S 9,600 3,000 6,600
O =g& 1,500,000 *6CH 9,000
OHEIIHEEHE 600,000& » 14! 600
g Fuls 24 40,000 70,000 230,000
307 21201 A 40,000 70,000 A 30,000
05 RIZt2IEt = 40,000 70,000 230,000
OgdRruls 29 40,000,000& 40,000
CXNE 223 ™ = H(AHA 160,000 160,000 0
403 A X EHHSH=20IA 160,000 160,000 0
02 BJI2S0Het =S 2l 160,000 160,000 0
OtIXg 2std X 160,000, 000& 160,000
ool STMQHAER HAEY XA 50,000 0 50,000
< 10,000
i 40,000
307 i+l & 50,000 0 50,000
< 10,000
s 40,000
04 QIZFHALAIH E = 50,000 0 50,000
OZHIEx= AL 50,000
—EOID SMOHAER HAEY
50,000, 000& 50,000
< 10,000
[ia 40,000
SEEZS0I2HAZ 174,400 0 174,400
J| 123,470
< 15,279
s 35,651
307 21201 A 174,400 0 174,400
J| 123,470
< 15,279
[ia 35,651




EX: S22
HH: S0z Mg 243
@2 23S Iz =20 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
05 QIZ2tR E 2 174,400 0 174,400
OJIzEBxZAY 174,400
—Eg2s0=2&A 80,000& *2,180H 174,400
J| 123,470
&< 15,279
= 35,651
S0 =0|etE A 685,000 3,841,000 A 3,156,000
= 315,000
= 370,000
St 25t Ol AHE(KHA) 60,000 15,000 45,000
401 A& HI L 204 HI 60,000 15,000 45,000
01 Al&H| 60,000 15,000 45,000
ORI ol o2 452
60,000,000 60,000
S22t Ol HE(EX) 620,000 3,826,000 N 3,206,000
g 315,000
= 305,000
401 Al HI L 2 0HHI 620,000 3,826,000 A 3,206,000
Fag 315,000
= 305,000
01 Al&H| 578,859 3,775,409 N 3,196,550
OZEIAHAY 578,859
— A2l HE ALY 578,859,000 578,859
g 295,950
= 282,909
02 22l 37,494 40,397 A 2,903
OZESAHAY 37,494
— S ARG HEAIY 22249
37,494,000 37,494
Fag 19,050
= 18,444
03 AlE 21| 3,647 10,194 NB,547
OdSS AHAMNY 3,647
— ANAE20ZE | 578,859,000 *0.63% 3,647
Mel=0] MEE HU ALY 5,000 0 5,000
201 gBt24y| 5,000 0 5,000
02 =224 H| 5,000 0 5,000
O&di=0l MEH &Mz S 5,000
—MI|2 S8 ,HN=22 5,000,000& 5,000
A B A Y| 2,841,251 3,200,688 A 359,437
= 1,208,462
o= 534,219
= 1,098,570
S & dEANE B4HH| 2,378,944 2,619,908 A 240,964




2AMd: 2322
M Fotmas BHEH|
Chel: B3 L dSAE EFH| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 1,208,462
= 521,819
= 648,663
2NNHSEM L S22 2+HH N (2 1,560,500 1,518,000 42,500
FIstm2el)
= 1,114,750
= 167,213
s 278,537
401 A& BIZ 201 8I 922,500 890,000 32,500
= 645,750
< 96,863
[ia 179,887
01 A& Bl 844,088 839,395 4,693
O=HIEXZ ALY 844,088
— AN SH, 2 EE2E>
155,220, 0003 *14] 155,220
= 109,200
< 16,380
= 29,640
— AN =8 EY 222,880,000 » 14! 222,880
= 156,800
< 23,520
[ia 42,560
— 4S8 B 202,483,000 » 14! 202,483
= 142,450
< 21,368
e 38,665
—EAANE s ZH ¥ ==2FH|
94,515,000 » 14! 94,515
= 66,500
= 9,975
e 18,040
—S8el & (AE) B K=
9,950,000 » 14! 9,950
= 7,000
< 1,050
e 1,900
—23c 2gUR(AE) B+ A2
7,952,000 » 14l 7,952
= 5,600
< 840
s 1,512
— AR LEIUR(AS)ES - K&
11,928,000& 14 11,928
= 8,400
< 1,260
e 2,268
—HEA 4SHE FEAS
69,580,000 » 14l 69,580
= 49,000
= 7,350




2N 2SR
B 2394 2SI
Ce: 23 L AEAE B4HH| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
13,230
— SUANK a4EHE IS
69,580,000 =14 69,580
- 49,000
== 7,350
= 13,230
02 22|l 73,094 45,316 27,778
O=ZHEXZAY 73,094
YN SH,. LY, YE BLTA 228
o] 11,853,000& =14 11,853
= 8,400
o= 1,260
2 2,193
—EANM EH OHHERA 2229
15,803,000& * 14 15,803
= 11,200
& 1,680
= 2,923
— A NE HLZ A 22 EqEH
13,828,000& * 14! 13,828
= 9,800
& 1,470
= 2,558
—HEA ASAEE ASSA 2SS
11,853,000& *14] 11,853
= 8,400
& 1,260
= 2,193
— BHOIAI SXZOI0IEt &t & QIS IHES
Ab ZelEaY 19,757,000& * 14 19,757
= 14,000
= 2,100
= 3,657
03 Al&E 201 Y| 5,318 5,289 29
O=2HExZAY 5,318
~ 2SS B4 844,088,000 0.63% 5,318
402 QI2v X2 0| & 638,000 628,000 10,000
= 469,000
o= 70,350
= 98,650
02 BIZEXI2 ALY EX(0IETHS) 638,000 628,000 10,000
O=2HIExZAY 638,000
—HEA HEHEY AT
208,000,000& » 1Al 208,000
= 154,000
= 23,100
= 30,900
— HOIAI SXZOI0IEtOd &t A 1Y =
430,000,000 & =14l 430,000
= 315,000




SN 2se2 Y
ol 2R 2HIH
Sl 25 X MSME 24T CERED

SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 47,250
= 67,750
SEXNEES 22 636,000 628,000 8,000
== 318,000
= 318,000
401 A& H L= OH bl 636,000 628,000 8,000
= 318,000
= 318,000
01 Al&H| 622,260 624,068 A 1,808
OEHEXZAY 622,260
—olED HFA HE L YBY HHIA
109,450,000 1Al 109,450
& 55,000
iy 54,450
— sk =28 HESAF & FHEYH
84,575,000 14! 84,575
& 42,500
= 42,075
— w8 82 B4 2 FHAEY|
9,850,000 x 14! 29,850
& 15,000
iy 14,850
—ESSAE A2 L HEHZBA
35,820,000 14! 35,820
o= 18,000
iy 17,820
—ZEdNUSOF HHEM E
55,720,000 14! 55,720
== 28,000
iy 27,720
—HAHANY = FHH| 34,825,000 =14 34,825
== 17,500
= 17,325
— e AUR 22X ESAY
71,280,000 =14 71,280
= 36,000
= 35,280
—CHe AUSR ESAY 12,870,000 x 1A 12,870
o= 6,500
iy 6,370
— 20 MUSR ESAY 5,940,000& * 14! 5,940
= 3,000
= 2,940
— SOLANNI A RO e & A @ 10HA oFLiE &
Ol8E &X 9,900,000& » 14! 9,900
== 5,000
= 4,900
— XS ©E ZA 31,840,000 14! 31,840
== 16,000
iy 15,840




EX: S22
I 2SR BNHFH
Sl 25 X MSME 24T CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NESX sid= 29 E=x0
29,850,000 x 14! 29,850
& 15,000
= 14,850
~US FOBLMADY BEHD U FUE
Hl 29,850,000 x 14! 29,850
& 15,000
2 14,850
~YS HOERY BEHL
59,700,000 = 14! 59,700
& 30,000
2 29,700
— By WHDRR FANIEA
20,790,000 x 14! 20,790
& 10,500
= 10,290
02 2eldl 9,820 0 9,820
OEHEZAY 9,820
—ololEm HEA NHEZA 2B
9,820,0002 * 14! 9,820
= 5,000
= 4,820
03 A& 20| 3,920 3,932 AN 12
OEH EZAY 3,920
— S XNE23 22l (622,260,000 «0.63%)
3,920,000& 3,920
SEXNEESN =686 daHA IS0 &Y 7,000 0 7,000
& 2,100
= 4,900
207 A0 | 7,000 0 7,000
o= 2,100
= 4,900
01 | 7,000 0 7,000
OEHEZAY 7,000
—CEXNEESSM =Y SM48HA JAZI|=0 &
o 3,500,000 *2JH A 7,000
=} 2,100
= 4,900
HEAE BTHAIAE S22 45 444 37,908 7,536
= 22,712
= 6,806
= 15,926
401 Al HI L £ 0HHI 45,444 37,908 7,536
= 22,712
& 6,806
= 15,926
01 Al& H| 44 958 37,502 7,456
OZHIEBEZANY 44,958




2N
X ZH -
L= B

el

HO MO Mo
tol toi ton
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B
):‘I:l
0
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1
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e

0x

Jo

=

i
2m

|
02
0
=
(i
>
>
>
0z

— Al EHAIAE

03 Al S THHI
O=HIE XA
— AIE20bI

B2
8

,641,0003 * 14|

10
>
HT
=4

,405,0003 * 14|

B2
9,

34,0002 * 14!

B2
6,

500, 0003 =14

A2 =
6,

791,000& » 14|

7AE=
6,

277,000& » 14!

44,958,000 *1.08%

H A Mo A Mo A HHn HHn A

Mo H

8,641

4,370
1,303
2,968

11,405

5,760
1,728
3,917

5,344

2,699
810
1,835

6,500

3,283
985
2,232

6,791

3,430
1,029
2,332

6,277

3,170
951
2,156

486
486
486

406

80

=2 ZHAIE SX2el XA

MW

30,000
21,000
2,700
6,300

30,000

401 AIEHIZ 2 I

A

30,000
21,000
2,700
6,300

30,000

01 A& Hl
O=HIE= ALY
—EAANME 2 29

03 Al 2 THHI
O=HIEXALE

29,679,000 14!

Mo H

29,679
29,679
29,679

21,000
2,700
5,979

321
321

29,679

321




EX: S22
I 2SR BNHFH
Sl 25 X MSME 24T CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 23 EIAIE X2
29,679,000 x1.08% 321
NEANE BZEFHY(XF) 100,000 120,000 A 20,000
= 50,000
= 25,000
= 25,000
402 BI2H X 20| M 100,000 120,000 A 20,000
= 50,000
= 25,000
= 25,000
02 QIZEXIEAISE X (0| XM THL) 100,000 120,000 A 20,000
O=24IExZAY 100,000
—YHA HE L BRI
100,000,000 = 14! 100,000
= 50,000
= 25,000
= 25,000
SR EX B3| 437,507 558,540 A 121,033
23SEX ANESA 22 375,606 339,980 35,626
101 Q121 H] 19,650 30,077 N 10,427
04 JI2ZtHIZ2 2 NEE 19,650 30,077 N 10,427
S e (222 2HLL2 140A) 19,650
— A A 66,800& x3H «33| x15JH A& 9,018
— M=% 118, 130 x3H %23| x 1504 & 10,632
201 et 31,300 27,880 3,420
01 AP 2t 2] H| 8,700 7,800 900
OS8M 2498 4 22
300,000 x3H 53| 4,500
OSHUFH ALDA AVAE AASY
70,000& 3% x203] 4,200
02 232%H4| 22,600 20,080 2,520
OR3M & 2LEX 2222 (ZHAMH 2
1400 ) 70,0002 x 150 A« 12 12,600
OJIOFE3H AIEZLE2E =2
10,000,000 10,000
202 044l 3,000 3,000 0
01 2L HI 3,000 3,000 0
O23M EdHs0 & SMaHA Ao
60,000& x2H x253| 3,000
308 XAXIGH SO0l & 4,100 4,100 0
10 2| 2SHUSHEAXERAEASH] 4,100 4,100 0
OJIOtE A2} HEXNE BT AN & I EZZ A
=29 4,100,000& 4,100
401 AlEHIZL £ 0HY| 217,556 268,923 Nb51,367




2AMd: 2322
g 23R4 2MFH|
tel: &N E2+=FHl (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 216,000 267,000 A51,000
O=23M & |REX NLES 116,000
— 23t ot Er & X 3,000,000 =74 2~ 21,000
— ML 215 B2 FHl(Al)
50,000,000& 50,000
— Ot A & et AR S A 45,000,000& 45,000
OHIXE 23t 2 ZH| 100,000, 000& 100,000
03 AlE 2 THHI 1,556 1,923 A 367
Ozt & |FHEIX AdEs FUHZHI
216,000,000& *0.72% 1,556
402 QI2H X201 M 100,000 0 100,000
01 2I2F 2 AL B (REMTH ) 100,000 0 100,000
OHIXE 23t E& FH| 100,000, 000& 100,000
oHTMI B2 39,678 36,310 3,368
101 @121 8] 18,278 15,110 3,168
04ORHBRISES 18,278 15,110 3,168
ooz Ml @2 18,278
— SN EE MOt 9,139
-JlEs 66,8003 x 12 120 8,016
AU EE 8,016,000 »14% 1,123
—LEAEE At 9,139
23 66,8003 x 1120 8,016
A2 E 8,016,000 x14% 1,123
201 L2l 1,400 1,200 200
01 At 22l 1,400 1,200 200
Oy d MIt A2 (SEXN , HLEF S) 1,400
— SHAYEE M40t 400,000& »23| 800
—LEAEE Mt 300,000& =23] 600
401 AIEHI L 20 20,000 20,000 0
01 A& HI 20,000 20,000 0
OAMNBA(EHHAEE) T LI E HE
20,000,000 =14 20,000
gHAMNE MmN 2el 22,223 182,250 A 160,027
101 1Al 11,423 12,780 N 1,357
412t Z2XREES 11,423 12,780 21,357
OEAHAME 22 11,423
— SZFl 11,423
23 66,8003 x 1 150! 10,020
A2 E 10,020,000& *14% 1,403
201 LB-2E | 10,800 800 10,000




2N
X ZH -
L= B

el

[~}

“H T
HD

10 30 &2
1 o

HO MO Mo
o o o
Jd >z o0y
>—1

0 &=
=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

01 At 22l bl
OHAAME 8K BIE F#2 400,000& 23]
OBHANE EE2=2 MH 10,000,000& 15

22|

el

10,800
800
10,000

800

10,000

10
0!
MO
tol

P & S S A 22

UL

24,800

12,400
12,400

22,240

2,560

10
og!
Ho
k_(')j
=
[pal
ol
P}
EJ
1o
-
10

UL

24,800

12,400
12,400

22,240

2,560

307 glz2tol ™

Mo

24,800

12,400
12,400

22,240

2,560

o
o
=)
N
N
oy

iy
i

>
e

O
H‘|
o
HO 0
A
=
2 H

|
10 40
&g
M
fon
==
il
0l
=
S|
o0
P

S SHEA XN (S, dNR

,400,000&

S

|
10
o
Rl

~

M H

M H

24,800
24,800

20,400

10,200
10,200

4,400

2,200
2,200

22,240

2,560

e

0
S|
e
o
Of
He
HT
i

Akl

EURLY

1,

997,513
872,000

13,846
192,228
919,439

1,275,749

721,764

s
O
Ol
H
[=]
=2
om

S

M H

426,552
13,846
16,628

396,078

538,849

A112,297

S

M

97,812
13,846
16,628
67,338

88,401

9,411

S

M

7,812
1,097
1,820
4,895

4,872

2,940

01 At2 2t 2l bl
OJIsE2xAe
o2l LA 223

300,000& =10

S

EURE

4,572
4,572

3,000
700
500

1,800

4,272

300
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fAH: S2st22 1
HE: p@llY 25 U BE
& 22EE OHHE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZoHHE (S, 0t , =8 M& 588 85
d=2) HIIe3 400,000 *6 0 =128 28,800
03 A2 Z Hl 50,000 40,000 10,000
OBE0N & 22EH 29 5,000,000& 63l 30,000
OXelstd RAXEH &8 Hsdts A
20,000,000& 20,000
202 (44l 6,060 6,060 0
01 = LH o4 1l 6,060 6,060 0
OBZFYL oIzt U AL 8O
60,000 *3H »153] 2,700
OB L DINYH ED
70,000 *3H x4 x4 3] 3,360
207 RO 40,000 0 40,000
01 2339l 40,000 0 40,000
O2szt22Z EZHOIX B 5 Y
20,000,000& 20,000
OBSHEANL 2P0 AREY
20,000,000& 20,000
301 et A= 22,200 25,660 A 3,460
09 AL HIZ &S 7,200 4,860 2,340
O2st2A BN A5 N 4
60,0002 x12E x 102 7,200
12 JIEtE2 43 15,000 20,800 A5,800
Ot A 52+ & X WSl
1,200,000& 10 12,000
o222 SX AHEEM 29 3,000,000& 3,000
308 XtXIEHH SOl A 13,000 54,680 241,680
07 HIXNHHAR2E = 13,000 54,680 A 41,680
ONRIGHZINEEAs SSMY AZEES
10,000, 000& 10,000
ON2 XA 22T A A3 3|
=E3 3,000,000& 3,000
401 AIEHI L 2CHEI 42,000 50,000 A8,000
01 A& HI 42,000 50,000 A 8,000
O=Zotlf EX&8 Fl 3,500,000 »120H 2 42,000
PR RS R S ) = = 856,961 556,900 300,061
s 372,000
= 111,600
s 373,361
S2AZTRAML (Xl s g2 HE S 744,000 160,000 584,000
s 372,000
< 111,600
s 260,400
308 A EHHSOIA 744,000 160,000 584,000




2N
X ZH -
L= B

el

S5t
BZIIY BE L BE
NeldA N xe

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 372,000
< 111,600
= 260,400
07 IXNSHHARE = 744,000 160,000 584,000
OZS3 A A 744,000
— Aol Sz 23538t 744,000,000 744,000
as 372,000
< 111,600
e 260,400
S NAML (Kl AN LIE SSHAAM 112,961 0 112,961
o)
308 XtXIEHHSOIA 112,961 0 112,961
07 X HH2LESE S 112,961 0 112,961
OXelstd XXEH 2e82d 282
49,361,000& 49,361
OXlelatd 2Zototdlol 299 30,000,000& 30,000
OXlelsrd 22 H 25t 6,100,000& 6,100
OXelatd 222LEHE 29 3,500,000& 3,500
OXiclatd HBAZSEE 17,000, 000& 17,000
OXlelatd AN a2 aZSoHe 7,000,000 7,000
SMHUHENL A (AZEQ) 714,000 180,000 534,000
s 500,000
< 64,000
[ia 150,000
SH 232 (AZE) 714,000 180,000 534,000
s 500,000
< 64,000
[ia 150,000
403 A X EHHS =0l A 714,000 0 714,000
s 500,000
< 64,000
[ia 150,000
02 SO 2SO0 HSHAHE X 2| &AL H 714,000 0 714,000
OZS3AHAEY 714,000
—dH23EL2 714,000,000& 714,000
s 500,000
< 64,000
[ia 150,000
2 TR0 10,524,179 9,848,371 675,808
s 1,907,000
< 273,500
s 8,343,679
22T Y 10,524,179 9,848,371 675,808
as 1,907,000
< 273,500
[ia 8,343,679
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St
22 THAO) 2
Zakd e

SH - BAEA) - MRAY - BES Of &t o il
=24 ANES 1,060, 139
101 212 8| 183,379
04 JIZtNZ22XNSE+ 183,379
O=0l 2ZX 2el(LAIAIE L) 164,492
—sEIAZXN 2 19,038
-JlEe 66,8003 x5 x40 13,360
F=5+g 66,8003 x5 8L 2,672
Hx =g 66,8003 x5 «2 668
AHES 16,700,000& *14% 2,338
—SF:A= 2 95,190
s 66,8003 x25%H x40 66,800
- FEsd 66,8003 x253 x82 13,360
AXtg 66,8003 x25% 22 3,340
AHES 83,500,000 *14% 11,690
—HeESAHF 2l 15,232
PIE= 66,8003 »4H x40 10,688
- Fead 66,8003 x4 «8L 2,138
- Xt =g 66,8003 x4 2 535
A2 S 13,360,000& *14% 1,871
—HIS2AZHA 2 11,424
s 66,8003 x1E 120 8,016
- FeaE 66,8003 x1H 242 1,604
HAx =g 66,8003 x1H «6L 401
AN ES 10,020,000 *14% 1,403
— XNl dEs3 23,608
s 66,8003 x5 x50 16,700
- FRY 66,8003 x5 10 3,340
RPN IS = 66,8003 x5 «2 668
AHES 20,708,0003 = 14% 2,900
Oanl ZZAES(LAMNAAR) 18,887
—JlzEa 66,8003 x2F 100 13,360
- 5= 66,8003 x2H x202 2,672
— X4 66,8003 x2H x4 535
—4AUEE 16,566,000 *14% 2,320
201 L2 | 161,600
01 At 22l bl 12,800
OJlHAZYgBA(E =) HEE gz

8,000,000& 1 8,000

Oz ZeotiiA Ro3Y S (dgy2Zotls,d
SEE) 200,000 *20H A+ 122 4,800
02 s5=9Hl 148,800
Oagzotifar MRS 300,000& ~12& 3,600
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fAH: S2st22 1
M HFIE—NE
S 2H2ATE N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OoZZXU NH2E HIIRS
300,000 *3oH & 128 10,800
OZZIU st MIIRS
300,000& x50 & 128 18,000
OgssE=sa MRS 300,000& »12& 3,600
OHHANE HEgs HIIR=s 600,000& 128 7,200
OLRY B4 MRS 300,000& »12& 3,600
O8AHANE 2Eota HIIR3
400,000& x12& 4,800
OXelax2dEd st MRS
300,000& »12& 3,600
OXeldt =L B3 2H0la=5 &IIRs
200,000& »12& 2,400
OXelttHgE dIes 200,000 1228 2,400
O=oz2&aX dIIes 13,200
—EFA= 700,000& x12& 8,400
-2 300,000& =122 3,600
—H2s 100,000& 122 1,200
O=s23 3229 dIIe3 300,000& 122 3,600
O=23 SN2 JI2S23 300,000& 128 3,600
OHESF=IE 2SR 300,000& =122 3,600
OZZSH RUAxI| LHY 23
200,000& 122 2,400
OF2ZX CCTV & RUA==I| A2t
800,000& »12& 9,600
Odt=HMelAld Zel(ZY3 GAHMH, Xlelat
MEIZSE) 500,000& *3H & «128 18,000
O2FANES &= 23(3MHA)
300,000& *3H & +128 10,800
OXCIAMEIME SR IS
2,000,000& x12& 24,000
02 OI=AL o2& = 3,000 3,000 0
02 QIZHITHOH R EF B S 2= 3,000 3,000 0
OQI2toITH ol 2 &f 3,000
—ZZAE APDWEY X2l 3,000,000& 3,000
401 AIEHIZL 20 702,160 322,304 379,856
01 A& Hl 700,000 320,000 380,000
OZANEE RANES 2l 700,000
—2FANEE SNES 50,000, 000& 50,000
—Xelsh 2T = ALY (A=14,200m)
200,000, 000& 200,000
— ZZorHA HUI(3ML) 20,000,000& 20,000
— 2o 2ZAE MHHAEUH AEES
50,000,000& 50,000
— =2 &g 2Z2ANEE ZFHl 50,000,000 50,000
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2N

X{ XH -
S =

=]

R M
0ROk ton
oA

o

o oy
o
e
mEmE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— Kol AMEN SR 22l & KRS
300,000, 000& 300,000
—AEE ANEE A2 30,000,000& 30,000
03 A& =2 THHI 2,160 2,304 A 144
OsX&el AE=2UZ 8l 300,000,000 *0.72% 2,160
405 XHobF S HI 10,000 10,000 0
01 XL 2 ZFH S| 10,000 10,000 0
O=g - Mg 2dZANLES HSFES
10,000, 000& 10,000
A8 2L AL 196,620 246,764 A 50,144
401 AIEHIZ 28I 196,620 246,764 A 50,144
01 A& tl 195,000 245,000 A 50,000
HESEUOHHMEH 2223 30,000,000 30,000
OXclat =2 ES 3 ZHlALY 20,000
—EBEg4 2 JI=2HE 24 20,000,000& 20,000
OEFH= 80N EA 25,000,000& 25,000
O2ZX =XZE ALY 25,000,000 <400 £ 100,000
SOoIAHI X ¥ SANE= 20,000,000 20,000
03 A& =TI 1,620 1,764 A 144
OAE=RUEH 225,000,000& *0.72% 1,620
22X N (s 22 XNEHALY) 270,000 300,000 230,000
s 135,000
= 40,500
s 94,500
401 Al I 28I 270,000 300,000 230,000
s 135,000
< 40,500
i 94,500
01 A& HI 268,069 300,000 A 31,931
OZSE3AHAMLY 268,069
= BRI BUAY
268,069,000 » 14! 268,069
z 135,000
< 40,500
s 92,569
03 A& =2 THHI 1,931 0 1,931
OZSE3 A A 1,931
—sEF 227X ZHAY AIZ=0H
268,069,000& *0.72% 1,931
HHARAX ESE AL (XHAN) 5,513,750 1,900,000 3,613,750
401 AIEHIZL 28I 5,513,750 1,900,000 3,613,750
01 A& HI 5,500,000 1,900,000 3,600,000
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2N

=]

e g g
N 22 KRN
CHel: 2AZXE O (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OUHAKSARX HAEX 04
110,000,000 50L& X| 5,500,000
03 AlE 201 Y| 13,750 0 13,750
OAI& 20| 5,500,000,000& *0.25% 13,750
BHHASRAX] ZAANA(BX) 870,000 0 870,000
Ry 556,000
= 314,000
401 AlEHIZL 2 0HY| 870,000 0 870,000
Fag 556,000
= 314,000
01 Al& b 864,553 0 864,553
OZES AHAY 864,553
—BHASAX LAY 864,553,000 x 14! 864,553
= 556,000
= 308,553
03 Al 20| 5,447 0 5,447
O E3sAHAAMS 5,447
—BHASRAT] ZHAIE AIEL2 0G|
864,553,000& *0.63% 5,447
22 AR =HISAH A 15,350 20,350 A5,000
201 et 9| 15,350 20,350 A5,000
01 AR 22l ] 15,350 20,350 A5,000
OZ2&dHEHI =42 100,000 » 100 X 10,000
OSJIEse =2 15,000 x 100 X 1,500
OS2 S EZAANNUL T £48
770,000 x524 3,850
HUEO R ZHANH(EX) 300,000 0 300,000
Ras 150,000
& 45,000
o 105,000
401 AlEHIZ 2 0HY| 300,000 0 300,000
g 150,000
= 45,000
= 105,000
01 Al& B 297,855 0 297,855
OZES AHAMNY 297,855
—dEo HE XHAY 297,855,000 1Al 297,855
Fag 150,000
= 45,000
= 102,855
03 Al 20| 2,145 0 2,145
OZESAHAMY 2,145
—dEo HE LAY AIE2UAH]
297,855,000 *0.72% 2,145
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EX: S22
HE: BBARNL
Sl BRI Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HACUAZ S IHLE (ZE2 U228 EESZ= JIRDI) 1,094,000 140,000 954,000
Fag 766,000
& 98,000
= 230,000
403 XX SHHS K20 & 1,094,000 0 1,094,000
g 766,000
= 98,000
= 230,000
02 BI2SHUESXE2ERAEAIS Y 1,094,000 0 1,094,000
OdSE3AHAMNY 1,094,000
~=3 g2 8 X2 5& )R]
1,094,000,000& x14! 1,094,000
Fag 766,000
=} 98,000
= 230,000
HEst20IS 2 AIE BEHIAFY (KA 302,160 0 302, 160
401 AlEHIZL 2 0HY| 302, 160 0 302, 160
01 Al&EH| 300,000 0 300,000
OEss0Is 2ZAEAY HAEX
300,000,000& 300,000
03 AlIE 21| 2,160 0 2,160
OA&E2UHZ Yl 300,000, 000& *0.72% 2,160
HESH=20IS 2ZAIE HHAMY(EX) 600,000 0 600,000
hag 300,000
o= 90,000
= 210,000
401 Al HI L E0HHI 600,000 0 600,000
Fag 300,000
= 90,000
= 210,000
01 Al&H| 596,243 0 596,243
2SS A ALY 596,243
—jESIS0IS 22AE HUIALY
596,243,000 « 1Al 596,243
g 300,000
& 90,000
= 206,243
03 AlE 21| 3,757 0 3,757
OdSS AHAMY 3,757
— JHESI=20IS 2ZAE ZEHAY AIEE
ul] 596,243,000& *0.63% 3,757
TEOSHIRS H3EYE LAY 302, 160 0 302, 160
401 Al HI L £ 0HHI 302, 160 0 302, 160
01 Al& H| 300,000 0 300,000
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fAH: S2st22 1
M HFIE—NE
S 2H2ATE N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZENS-HIES A=ELZ HYRA H
23,076,923& 13 Xl 300,000
03 Al 2 THHI 2,160 0 2,160
OAE 2B HI 300,000,000& *0.72% 2,160
H=ss S8 AZs =2 8,497,805 7,459,930 1,037,875
s 800,000
J| 957,883
< 59,546
[ia 6,680,376
s g#4dst XA 2,061,660 1,864,058 197,602
J| 157,883
< 59,546
e 1,844,231
HEHa 2 AKX 94,400 63,260 31,140
201 Let24E] 5,400 4,260 1,140
01 At 22l 5,400 4,260 1,140
OM=dgA 28 =232 S 3,000,000 3,000
OMsSgEA g8 =& E2X =l
8,000& x3H 100! 2,400
202 4 Hl 4,800 4,800 0
01 = LH 4 HI 4,800 4,800 0
2E S0 A ot 2 g o
80,0003 x5 122 4,800
301 et A=z 7,200 7,200 0
09 &AL HI B &S 7,200 7,200 0
OA& M=sal Itk 24
60,000 *30H x43] 7,200
307 21201 A 77,000 47,000 30,000
02 HAFAASFEE 25,000 0 25,000
OsdHE REAY 857 MEAY X2
25,000,000& 25,000
04 QIZFHALAIH B = 52,000 47,000 5,000
O3dd =.s8d SEM=sUH =8
7,000,000& 13 7,000
OgLzZiH=s 9 MsdHs =&
800,000 x25& = 20,000
Ostn MEHSAE ASXE
12,000,000& =13l 12,000
O% Zoel AHolE=2Us &d
1,000,000& =13l 1,000
Ok Fofe M=z £
12,000,000& =13l 12,000
HsHH XA 104,000 92,000 12,000
307 glz2+0ol & 104,000 92,000 12,000
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AN 23220

MM MSS S8 AL 20
e M= 243 X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 QIZI X EHESIEHIEX 104,000 92,000 12,000
OSAZHEZ AIR=2 2%H| 80,000,000 80,000
OogxZM=s XNE=X WsSH X
200,000& x10H x12& 24,000
AZ==2A0o2d A 34,062 34,062 0
J| 23,843
= 3,066
o 7,153
307 QI2t0| & 34,062 34,062 0
J| 23,843
= 3,066
= 7,153
05 QIZtREZ 34,062 34,062 0
OJI2EBx ALY 34,062
—AZX 2N 0|23 AIY 34,062,000 34,062
J| 23,843
& 3,066
= 7,153
HEAMBYSANESA X (B SX) 107,232 102,432 4,800
J| 53,616
= 53,616
307 giztol A 107,232 102,432 4,800
J| 53,616
= 53,616
02 QIZIA AAIE E X 107,232 102,432 4,800
OJI2EXAY 107,232
—0HEd H=sg2s I
2,234,000 x4 x12& 107,232
Jl 53,616
= 53,616
UCIMEYSKN A X (BSXE) 160,848 153,648 7,200
J| 80,424
= 80,424
307 2I2t0| ™ 160,848 153,648 7,200
J| 80,424
= 80,424
02 QI2tAMAIE E X 160,848 153,648 7,200
OJI2EBx A 160,848
— UM MEBHNSXNEA A
2,234,0002 6% x12& 160,848
J| 80,424
= 80,424
MEHSDA 29 (EH|) 12,096 12,096 0
= 3,628
= 8,468
307 2Iz2to| A 12,096 12,096 0
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2N
X ZH -
L= B

el

Sk
MEs S8 ALs 20
HE 2488 X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HDE
= 3,628
= 8,468
02 QIZ2IA AAIE E X 12,096 12,096 0
OZHEXZAY 12,096
—MEHSDNA 29 (1204!) 12,096,000 12,096
& 3,628
= 8,468
MEE L HHCHE = XK (ZH|) 9,830 9,668 162
= 4,915
= 4,915
307 2Iz2to| A 9,830 9,668 162
= 4,915
= 4,915
02 QIZ2FAAAIE E X 9,830 9,668 162
OEHEZAY 9,830
—MEAHsUs 4 8,000,000& 8,000
= 4,000
= 4,000
— & sSs0tel X& 1,830,000 1,830
= 915
= 915
MEHE T2 29 (% H|) 9,792 9,792 0
= 2,937
= 6,855
307 gizto| A 9,792 9,792 0
= 2,937
= 6,855
02 AI2tAAMAIE E =X 9,792 9,792 0
OZHEXZANY 9,792
—MEHE Tz XH 9,792,000& 9,792
= 2,937
= 6,855
S RAE 82 AATEHAUSE (ZHI) 90,000 90,000 0
& 30,000
= 60,000
307 2izto| A 90,000 90,000 0
& 30,000
= 60,000
04 QIZ2tSHALALS B = 90,000 90,000 0
OEHEZAY 90,000
— BAG XA &Y M= AU TN ALE
90,000,000& x13] 90,000
o= 30,000
= 60,000
O M= 100,000 100,000 0
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EX: S22

MM MSS S8 AL 20

e M= 243 X (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 100,000 100,000 0
04 SIZ2ISHAAIH E & 100,000 100,000 0

oo M=ta 100,000,000 *13| 100,000

oM=L 240,000 240,000 0
307 2izto| A 240,000 240,000 0]
04 QIZ2tSHALALS B X 240,000 240,000 0

OolM=da &8 X 240,000,000& *13] 240,000

MEH=UHEE XS 110,000 95,000 15,000
307 QI2t0| ™ 110,000 95,000 15,000
04 CIZ2tSHALALS B X 110,000 95,000 15,000

O3MEE MEHsUsAE &It X
110,000, 000& *13] 110,000

HEA HEs 843 110,100 134,100 A 24,000
201 et Y| 22,000 22,000 0
03 Al HH| 22,000 22,000 0

OLQJolEEla HA(SHUE)
2,000,000 11l S % x13] 22,000
301 et A= 2,100 2,100 0
09 SHAIAHI B A2 2,100 2,100 0
OFEt A2 HOoIE=EZE3 =z 2E0a &It
2,100,000 2,100
307 2iz2to| A 86,000 110,000 A 24,000
04 CIZ2tSHALALS B 86,000 110,000 A 24,000
OE3 & HOIE=UZ 10,000,000& *13] 10,000
OLoolEEla (82 Lo35)
10,000,000& *13] 10,000
Okodet2c2T U (8al &, EFA2F O
3| &) 10,000,000& *13] 10,000
OLoldet2ESZHs (S
1,000,000 11 S ™ 11,000
Ottt HOIEESUE 10,000,000& 13| 10,000
OgtdRAH D2t 2D 3
10,000,000& *13] 10,000
Oogtdct2E2 T3 & =202t 22
CHal 20,000,000 13| 20,000
Ot Ma=2=Z0a 5,000,000 x13| 5,000

H=so |4 155,000 125,000 30,000
307 gizto| & 155,000 125,000 30,000
02 QIZ2IA AAIE E X 15,000 15,000 0

Okl Hsna 29 5,000,000& 5,000
Ogits: Hisnad 249 10,000,000& 10,000




EX: S22
MM MSS S8 AL 20
2 Mg 243 XN CEE-ED
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
04 DIZHH AL AR 2 & 140,000 110,000 30,000
O% A=t 820I0IHIS U3 90,000,000 90,000
OUWAEed 82 HISsU 2 50,000,000 50,000
SFNHE 2 s AEEY 28,000 28,000 0
307 2Iz2t0| A 28,000 28,000 0]
02 QIZHEAAIRE E X 28,000 28,000 0
OBDHS L 2464 HLSY
3,500,000& 85 = 28,000
AR 2 38 MUY 4 55,000 55,000 0
307 QI2t0| & 55,000 55,000 0
04 DIZFSHALAIRI B X 55,000 55,000 0
OsAZH=3 2 838 HMIA A&
1,000,000& x25 & =2 25,000
OAZx 29 S HsHAd 84 Xd
2,000,000 155 = 30,000
2dl20 X SEREx 4 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
04 CIZ2HSH ALALS B X 15,000 15,000 0
Ottt SdI 8o d=20Xsst 88 5
203 15,000,000 13| 15,000
23 12,000 10,000 2,000
307 2izto| A 12,000 10,000 2,000
04 DIZ2tSHALALS B = 12,000 10,000 2,000
Ot == 3l 12,000,000& 12,000
=220 3 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
04 CIZ2tSHALALS B X 20,000 20,000 0
Ottt =203 20,000,000 x13] 20,000
EF20U3 15,000 10,000 5,000
307 S12t0| & 15,000 10,000 5,000
04 SIZ2ISHAAISHE E X 15,000 10,000 5,000
Ot =103 15,000,000& * 13| 15,000
H=IZHLAS 20,000 20,000 0
307 2iz2tol A 20,000 20,000 0
04 SIZ2ISHAAISH E & 20,000 20,000 0
OSdegot2 2t &= HUAUE
20,000,000 13| 20,000
=28 MEUS 15,000 10,000 5,000
307 2Iz2t0| & 15,000 10,000 5,000
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2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 15,000 10,000 5,000
OFA&80| ZeINSUHS 15,000,000 15,000
=103 20,000 20,000 0
307 gizto| A 20,000 20,000 0
04 CIZ2tSHALALSE B = 20,000 20,000 0
Ot =2U3 20,000,000& x13] 20,000
Z0IA22Z 0|0 3 10,000 10,000 0
307 212t0| & 10,000 10,000 0
04 CIZ2HSHALALS B X 10,000 10,000 0
O2oIAHZAI| U3 10,000, 000& 10,000
EHEE O3l 182,300 170,000 12,300
307 2Iz2t0| & 182,300 170,000 12,300
04 SIZ2HSHAAISH E & 182,300 170,000 12,300
Ot HA2I| L SM EHEZUS
20,000,000 13| 20,000
020198 SN2 M=2xSs0 HAZ
CH &l 162,300, 000& 13| 162,300
HHECIE 3l 12,000 10,000 2,000
307 212t0| & 12,000 10,000 2,000
04 CIZ2tSHALALS B X 12,000 10,000 2,000
Oty BHEQUEHH S 12,000,000 13| 12,000
ALX OHAHE 243 60,000 60,000 0
307 2Iz2t0| A 60,000 60,000 0
04 SIZ2ISHAAIH E & 60,000 60,000 0
OSotH 8XEY S (ER,HUA BHRAS)
60,000,000 60,000
&A= &2 OfctE 3 50,000 50,000 0
307 212t0| & 50,000 50,000 0
04 SIZ2HSHAAISHE E X 50,000 50,000 0
OstA LA M2 0l2kE 3 50,000,000 50,000
St=2A HILIA SAUUHSI(EH]) 80,000 80,000 0
& 15,000
= 65,000
307 2iz2to| A 80,000 80,000 0
& 15,000
= 65,000
04 OIZ2tSHAFALS B X 80,000 80,000 0
OEHEZAY 80,000
—St=24 HUA S
80,000,000 x13] 80,000
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fAH: S2st22 1
MM MSS S8 AL 20
2 Mg 243 XN (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 15,000
s 65,000
52 sz 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Ogdazstl d= s 57203
10,000, 000& 10,000
SSAEXEY 2% A& 20,000 0 20,000
307 21201 A 20,000 0 20,000
02 It S AHE L 20,000 0 20,000
OJIsEx=AMg 20,000
—33AXLXZ2YE 29 K& 20,000,000& 20,000
20Nl sdds 4 100,000 0 100,000
307 21201 A 100,000 0 100,000
02 B LA EX 100,000 0 100,000
OZEEUN=UHa s34 SEXE 100,000
—19JHE= 308 X2 100,000, 000& 100,000
MEAME 29 1,026,298 959,863 66,435
HsAE |X2cl 20,965 20,965 0
201 ¢er24] 6,100 6,100 0
01 At 2t 2l 6,100 6,100 0
OAIEZHl X2l 2,200
—JI=+g 1,200,000 1,200
— JI A&l =2l 1,000, 000& 1,000
OM=SAE 2el2E M 60,0003 x5S *3H & 900
OxMsz s uH 150,000& 204 3,000
206 M= Hl 14,865 14,865 0
01 =4l 14,865 14,865 0
OMSAlE =8EHI 2,015
—0FISB LR 2,100& *8004 1,680
—HFHIIS 22 5,000& x40 200
—WHI s< 3,000& =454 135
oYy & AsH 7 60,0003 x5& 54 & 1,500
OXClZel EHFL(ZTE2SE 2 30L)
4,000 *500E 23] 4,000
Oo&fizel LN (BE2sH 2 3MHA)
350,000 »15CH =13 5,250
OXCl&el sLFU(TE2SE 2 30Md)
5,000& 60 »33] 900
OXCi&el g (TEg2sE 2 30HL)
10,000 60X 23| 1,200
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<

n0

Kio

Hl w

1,968
1,968
1,968

H3r
Wikd
RIS

172,232
18,072
18,072

154,160

8,760

145,400

Off &t 24

174,200
20,040
20,040
20,040
10,020
10,020

8,760
8,760
600

154,160

2,880
1,080
4,200
145,400
145,400

4,440

1,560
1,560
1,320
112,200

18,000
21,600

8,400
28,800

9,000
3,600

1,200
1,200
1,200
1,200
12,000
6,000
9,000
9,360

1,920
1,920
1,920
3,600
5,000

ol
=
o]
=
2

& %30
2

4«58 «30

2l x5

e

66,800
66,800
150, 000& 2

24 i
OMSEAIE

=

o
04 J12tN 2 2 Xt

01 At 22l bl

101

ol

to
oo
<
%0

ok

o

)
g
128

1 4 4 6
2l *

2 %40 A %6

350,000

120,000
45,000

30
(s
H0
A0

REAl

A0
RO
all
RO

ok

K]

3

12
12
12

2 *

gl
0F
=
]3]
_.u_

5

5
128
128
128

2l *
2 *
2l %

130,000
130,000
110,000

1,500,000

—&lles

o

1,800,000

£l
o
=
0K
ﬂ

2l x

[l
OF

=

)

128
128
128
128
128
128
128
128

2l *
2%

=

H+2M L +123

750,000

700,000
300,000

1,200,000

=32

2l *

100,000
100,000
100,000
100,000

1,000,000

)

3l
ot

o

KO
0y

o0
0

2 *
2l *
2 *
2l *

2l x

or
Mo
0F

3
ol

oJ

=

A5 128

500,000

160,000

u
<+
<+

A0
&l
oJ

K]

)

=
[

=

2l x4

480,000

il
OFr
=

0

Il
J|
J|

=
[
=
[
=
[

| x4

2l
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=

2l x4

e
=

900,000

480,000
480,000

&
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AN 23220

M M8 S8 A28 =20
ool HSAE 29 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-8 270 1,500 x204 *2J1 A *90! 5,400
AIHSHEH 2F 22 831,133 766,666 64,467
101 @124 dl 403,781 384,414 19,367
03 RIAHAZZ2 B+ 246,063 0 246,063
OZ A=, 8A) 209,959
—Jlas 76,9603 x5H x250 96,200
- =54 76,9603 x5 x52 20,010
Sl PN RSy 76,9603 x5H x152 5,772
— Al2tel g 15,000 *5H 22 Al 2t 128 19,800
—gATNET 222 10,0003 *1H 250 2,500
— =GN etE =2 20,0003 x4H 250 20,000
—5gY 76,9603 *1.5x5H 10 5,772
-5 10,0003 *4H 200 8,000
- S22+ 20,0003 »4H 60 4,800
— 4 EE 185,032,000& * 14% 25,905
— I SH (=Z2A &E5) 300,000& x4 H 1,200
ogzeld 36,104
—-Jl2= 66,800 x 1 »250 16,700
—F54 66,8003 1 52 3,474
— XY 66,8003 x 1«15 1,002
— Al2Eel=%E 8,350 x1.5x1H »40A| 2+x 123 6,012
—522fE 66,8003 x1.5x1H x10 1,002
—Ag =< 40,0003 x 18 +128 480
—dg=g 250,000 x 18 128 3,000
— 40 EE 31,669,600 *14% 4,434
M4 I12HH22NHSES 157,718 384,414 A 226,696
OZel& (L, #A) 157,718
—JlE= 66,8003 x5 250! 83,500
—FF5Y 66,8003 x5 x52 17,368
— X< 66,8003 x5 x15& 5,010
— A2Fel=E 8,350 x1.5x5FH +x24 Al 2+x12& 18,036
—522fE 66,800 1.5 x5 10 5,010
—E&= 128,924,000 *1/12& 10,744
— 42 E 128,924,000 * 14% 18,050
201 YEr2 Y| 333,302 333,202 100
01 At 2t 2l 50,452 50, 352 100
Oget=&H| 50,452
— S A Xt 286,000& »12& 3,432
RS =4 10,000& = 15CH 122 1,800
— A2 ZZ20W R 24
500,000& 123 6,000
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SN 2o
MM HES S8 AP 2o
Sel MSAE 29 EEH-E)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
— "0l 95 60,0002 *6Cf * 122 4,320
— 22l 8,000%! ¥5% %202 800
—HAE 828 300,000% * 122 3,600
—FHAER 300,0002! *63 1,800
— A 100, 000! ¥202} A 2,000
- %23 82X 50,0002 * 128 A 600
—SZA AFX 60,0002 %60 A 3,600
- 501 15,0002 *30% & 450
—278= 500,000 500
-222 M 500, 000! 43| 2,000
— MR OHE 80,0002 *500H 4,000
—goa e 3,000 *500H 1,500
—EZAUB U =Y PY 3,5008 «300kg 1,050
—NRE 82 200,000 *55 1,000
—JEZM 228 1,000,0002! * 122 12,000
02 22| 282,850 282,850 0
OZZ22 % MA 282,850
—®lea 5,500,0008! 122 66,000
—x593 4,500,0009 * 12 54,000
— AR (Ot A) 1,400! +7,200kg* 122 120,960
—FI|HF PR Y BAZ 550,000 12 6,600
—SLIGMEZE AE 150,008 * 122 1,800
—AgoIE PR Y 82 350,000 +12% 4,200
- 292 SN2+ 892
200,0008! *2CH* 12 4,800
— 22 FIIAA £42  100,0008 «2CH 200
—AUHUNY 442 1,000,0008! *13] 1,000
— A28l 45,0009 *23| 90
—2FAMN 4B 50,0002 *43] 200
~H4+X B4 89 1,000,000 23] 2,000
—JIHBH ARR £4& 10,000,000 *13] 10,000
-2 834 89 20,0002 *250 " 5,000
—gagMI & DA 6,000, 0008 *13] 6.000
206 T 2t 11,650 15,050 3,400
01 MZHl 11,650 15,050 3,400
OgagaI A2 16,0002 %300 4,800
2o HaH 2 35,0002 *505 1,750
STH 7Y 50,0002 %307 1,500
OPHZ A M 7 100,0008! *20S 2,000
OZZJ| G{BEE 7 800,0008! x23] 1,600
401 Al HI YL = Tl 40,000 26,000 14,000
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fAH: S2st22 1
MM MSS S8 AL 20
So: HSAY 29 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 40,000 26,000 14,000
O=2AHSHH 212 =4H]
20,000,000& =14l 20,000
OF =44l A WA SA
20,000,000& =14 20,000
405 XHoHF S HI 42,400 8,000 34,400
01 AL EZFH S 42,400 8,000 34,400
Olsgdl 7¢ 20,000,000 = 1CH 20,000
AUE AM=E ¢ 70,000& +3202t 22,400
HM=Al2 Fbl 5,409,847 4,636,009 773,838
s 800,000
J| 800,000
[ia 3,809,847
HEAL &5 & FH 1,204,140 1,039,772 164,368
401 AIEHI L 20 1,154,140 953,772 200,368
01 A& Bl 1,150,000 950,000 200,000
OMSAE FNE> & 202 24
10,000, 0003 *109H £~ 100,000
On2Md=sa =% WM 2 S& A4 ZHl
600,000,000& 600,000
OXZ2AH0E=SE A =&C0 WM 40,000,000 40,000
OUHEAOIEESE /=& CI WA 40,000,000& 40,000
O=2NSHH =83 A& 2+
150,000, 000& 150,000
OMdEN=SE BEXFE2F 284 &1
20,000,000& 20,000
obtg 408 2371+ &1
15,000,000 * 109 A 150,000
OZg2sd =8 XM 50,000,000 50,000
03 AlE 2 THHI 4,140 3,772 368
OAE =SB HI 1,150,000,000& *0.36% 4,140
405 TtatF S 50,000 86,000 A 36,000
01 et EFFHSHI 50,000 86,000 236,000
OXM=sAE 28 =23 ¢ 50,000,000& 50,000
YA = I3 EA(KAHH) 610,000 1,096,237 A 486,237
401 AIEHI L 201 610,000 1,096,237 A 486,237
01 A& HI 610,000 1,090,000 A 480,000
OMZESHIESZAISH 100,000, 000& 14! 100,000
Oogtd=dz Ag 510,000,000& 510,000
MENSSIAZTLHXNA(HLAZ=0T £4) 2,000,000 2,500,000 500,000
as 800,000
s 1,200,000
401 AIEHI L 2 CHYI 2,000,000 2,500,000 500,000
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X ZH -
L= B

el
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o o =

Ho

0 Ho tor

z
0

> o Y
=y

0y

re

M)

=)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 800,000
s 1,200,000
01 A& HI 1,414,906 2,491,032 A 1,076,126
OZS3l A A 1,414,906
—EHYABXDD ZAAY
1,414,906, 000! 14! 1,414,906
s 800,000
s 614,906
02 Zeltl 580,000 0 580,000
OZE3 A A Y 580,000
—ELYATIME ZLAY
580,000,000 » 14l 580,000
03 Al S THHI 5,094 8,968 A3,874
O S3l A A 5,094
—EUYALXME LAY
1,414,906,000& 0. 36% 5,094
HEHSALE NF(ANSOSHAMsSZHEY) 1,595,707 0 1,595,707
J| 800,000
s 795,707
401 AIEHI L 201 1,595,707 0 1,595,707
J| 800,000
[ia 795,707
01 A& HI 1,589,983 0 1,589,983
OJIsEx=AMd 1,589,983
— A= U038 ds2 A 1,589,983,000& 1,589,983
J| 800,000
s 789,983
03 Al =2 THHI 5,724 0 5,724
OJI=EXAY 5,724
A= 08 dsa A
1,589,983,000& *0.36% 5,724
BY2HAY 95,475 97,234 A1,759
Jl=&l 95,475 97,234 21,759
Jl2zl 95,475 97,234 A1,759
201 LEr2 Y| 51,945 50,134 1,811
01 At 2teltl 51,945 50,134 1,811
ORNEA 1,831,000& »23H 42,113
O=gtl 4,600
— E20aldl 8,000 x23H 25! 4,600
O=SAIL Xt 5,232
—Z =S A 286,000 x1CH+128 3,432
— SWEAD] 150,000 x1CH 123 1,800
202 o4dl 39,330 42,900 A 3,570
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2AMd: 2322
Hu: 2R
chelr D123l
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
01 = LH 4 bl 39,330 42,900
O2tLH o HI 80,0003 x23Y x128 22,080
O&2 o di 75,0003 23«10 17,250
203 YR =&l 4,200 4,200
04 FNSELR=LH 4,200 4,200
ORN2IYSZ=AHI 350,000& »12& 4,200
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